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Сабирање са преласком преко 10 

1.  Рачунај тако што ћеш први сабирак допунити до 10.

6 + 6 = (6 + 4) + 1 = 10 + 1 = ___

7 + 5 = (7 + 3) + 2 = ___ + ___ = ___

8 + 4 = (8 + 2) + ___ = ___ + ___ = ___

9 + 3 = (9 + ___) + ___ = ___ + ___ = ___

9 + 5 = (___ + ___) + ___ = ___ + ___ = ___

2.  Сад рачунај краће.

7 + 6 = 10 + 3 = ___

8 + 3 = 10 + ___ = ___

8 + 6 = 10 + ___ = ___

9 + 2 = ___ + ___ = ___

8 + 5 = ___ + ___ = ___

3. 6 + 6 = 10 + 2 = ___

5 + 7 = 10 + ___ = ___

9 + 6 = ___ + ___ = ___

4 + 8 = ___ + ___ = ___

3 + 9 = ___ + ___ = ___

8 + 4 = ___ + ___ = ___
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